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HRESRET

code codeline x m adjData

1 x=0.0 9 0.0 None None
2 for m in range(5): 13 0.0 0 None
3 adjData = copy.deepcopy(feedback[1]) 16 0.0 0 [[2, 0.0, [3, 0.01]
4 x=(b+1t)/a 20 25 0 [[2, 0.0], [3, 0.0]]
5 for m in range(5): 13 2.5 1 [[2, 0.0, [3, 0.01]
6 adjData = copy.deepcopy(feedback[1]) 16 2.5 1 [[2, 3.0, [3, 3.01]
7 x=(b+t/a 20 2.875 1 [[2, 3.0], [3, 3.01]
8 for m in range(5): 13 2.875 2 [12, 3.0, [3, 3.01]
9 adjData = copy.deepcopy(feedback[1]) 16 2.875 2 [[2, 2.3636363636363638], [3, 1.0]]
10 x=(b+t)/a 20 3.1363636363636367 2 [[2, 2.3636363636363638], [3, 1.0]]
11 for min range(5): 13 3.1363636363636367 3 [[2, 2.3636363636363638], [3, 1.0]]
12 adjData = copy.deepcopy(feedback[1]) 16 3.1363636363636367 3 [[2, 2.0454545454545454], [3, 0.9715909090909088]]
13 x=(b+t)/a 20 3.0241477272727275 3 [[2, 2.0454545454545454], [3, 0.9715909090909088]]
14  for minrange(5): 13 3.0241477272727275 4 [[2. 2.0454545454545454], [3, 0.9715909090909088]]
15 adjData = copy.deepcopy(feedback[1]) 16 3.0241477272727275 4 [[2, 1.9478305785123964], [3, 0.9204545454545453]]
16 x=(b+t)/a 20 3.0003228305785123 4 [[2, 1.9478305785123964], [3, 0.9204545454545453]]
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2.875 7%} 3.1363636363636367.
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X K data m feedback adjlD ac®
43 3.1363636363636367 5  [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454), [3, 0.9715909090009088]]] [1,2] [[2, 2.045454545454545.
44 3.1363636363636367 5 [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454), [3, 0.9715909090909088]]] [1,2] [[2, 2.045454545454545.
45 3.1363636363636367 5 [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454], [3, 0.9715909090909088]]] [1, 2] [[2, 2.045454545454545
46 3.1363636363636367 5 [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454], [3, 0.9715900090909088]]] [1,2] [[2, 2.045454545454545.
47 3.1363636363636367 5  [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454), [3, 0.9715909090009088]]] [1,2] [[2, 2.045454545454545.
48 3.1363636363636367 5 [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454), [3, 0.9715909090909088]]] [1,2] [[2, 2.045454545454545.
49 3.0241477272727275 5 [1,3.1363636363636367] 3 [[1, 2], [[2, 2.0454545454545454], [3, 0.9715909090909088]]] [1, 2] [[2, 2.045454545454545
50 3.0241477272727275 5 [1,3.02414772727272751 3 [[1, 2], [[2, 2.0454545454545454], [3, 0.97159000909090881]] [1,2] [[2, 2.045454545454545.
51 3.0241477272727275 5 [1,3.02414772727272751 4 [[1, 2, [[2, 2.0454545454545454], [3, 0.9715909090909088]]] [1,2] [[2, 2.045454545454545.
52 3.0241477272727275 5 [1,3.0241477272727275] 4 [[1, 2], [[2, 1.0478305785123964], [3, 0.9204545454545453]]] [1,2] [[2, 2.045454545454545.
53 3.0241477272727275 5 [1,3.0241477272727275] 4 [[1, 2], [[2, 1.9478305785123964], [3, 0.9204545454545453]]] [1, 2] [[2, 1.947830578512396:
54 3.0241477272727275 5 [1,3.02414772727272751 4 [[1, 2], [[2, 1.0478305785123964], [3, 0.9204545454545453]]] [1,2] [[2, 1.947830578512396.
55 3.0241477272727275 5 [1,3.02414772727272751 4 [[1, 2], [[2, 1.0478305785123064], [3, 0.9204545454545453]]] [1,2] [[2, 1.9478305785123096.
56 3.0241477272727275 5 [1,3.0241477272727275] 4 [[1, 2], [[2, 1.0478305785123964], [3, 0.9204545454545453]]] [1,2] [12, 1.947830578512396.
57 3.0241477272727275 5 [1,3.0241477272727275] 4 [[1, 2], [[2, 1.9478305785123964], [3, 0.9204545454545453]]] [1, 2] [[2, 1.947830578512396:
58 3.0241477272727275 5 [1,3.024147727272727514  [[1, 2], [[2, 1.0478305785123964], [3, 0.9204545454545453]]] [1,2] [[2, 1.947830578512396.
59 3.0003228305785123 & 11.3.024147727772772751 4 11121 117_1.94783057851239641 [3.0.9204545454545453111 [1.21 12 1.947830578512396. Y
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